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(15%) 1. SR TP EEARER e SHN A - FSHER A SR8
{ l.Algorithm 2.Bubble sort 3.Chip 4.Conwrel code  3.Coprocessor
6. Device status word 7. Multichannel  8.0bject program
G Overflow [0.Pseudocede  11.Random access 12 Rounding
13 Source program 14 Structured programming 15 Subroatine
16.Time-sharing 17 Underflow 18 1ser-friendly 19.XOR
20.Warping  21.Windows 22 Workstation )

(&), A stepwise procedurs tor solving a program.

{b). A compmter that can function as 2 computer itsell or that functions as a tenminal to
other computers throught a computer network

(c}. Another name for a multipass sort algorithm that generally requires more than one
mads throngh the list in order to puarantes that the list sorted into the desired order,

{d). An unpackaged semiconductor device.

{e) A lemm used to desenibe a program or a software package that 1s easy 1o use.

(). A program in machine-lanpuage form.

(). A special-purpose processor chip that works in conjunction with a primary CPLS
to speed up fime consuming oporations.

{h). An error condition that oceurs when the result of an anthmetic operation yields a
result that is too large 1o be stored in ihe compuoter’s memory.

(1). The English-like statements used to descrnibe the steps in algorithm.

(1}. A technigue that approximates a value.

(k). Programming with a wp-down fAow that is easy 1o fellow and modify because of
its struclure.

(1. A file-aocess technique in which records can be accessed in any order.

(). A subprogram that hay return many values, a single value, or ne value to the
main progratn.

{n}. An error conditivn that occurs when the resolt of an arithmetic operation yields a
result that is oo small to be stored in the computer’s memory.

(o). A method of interacting with the computer in which & number of programs are

being executed at the same time although the user appears to have the complete
attention of the computer.
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(5%) 2. ACEL F » Fasrmpsl il O @485 8 2 1545 2 $ptmp « B T F{AF
Bt F EEEey P (EAtHE)
{a) tmp=="ptnp
(b} tmp = &ptmp
(¢} ptmp==*mp
(d} ptmp == &imp
(e) &imp = *pmp
() &ptmp == &tinp

(6%)3. B y=0-¢ BB M TRAFELAROAETRET?

=Y

do

{
xl = x;
x = {({atyhx)y2;
d = abs(x - x1);

y
while (d >= e);

(7% 4. AT TFRFES » #Fhdo-whileB BSOS AR FHE HEHEE
42 A % L 1 » counter{E 4T 7

main {)
{
it counter = 0
floar total = 0.0;
o
{
total = total + 0.1;
counter = counter + 1,
}
while (total '= 1.0,
j
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void main(void)

{
int f{int x, int n);
prantf{"Yadin", 3,400,
I
int flintx, iotn),
.
Hin==0)
rethrm X,
Cclae
remn X ¢ (X, n-l);
!

(15%) 6. EaFa—-BHeEFAL W, L0} REALEFARRR 52
Bytes » wAl6, 2]0h F 43k £(2040),; » A3, 4] &0 48045 1 B (20094),

(a) AP BN o8 ET S column-major F & 7
{b) A[Ll) = HH AR h BfT 7
{C] 1.11 =7
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(13%) B Write a function in C {preferable), PASCAL. ar FORTRAN, which use three
parametess x, 1, and p, to generate the probability of Binomial Distribution.
The definition of a binomial distribution is as follows: A Bernoullf trial can
restilt in a success with probability p and & failure with probability ¢=1-p.
Then the probability distribution of the binomial random variable X, the
nurber of successes in # independent trinls, is

[
blx,n.p) = [JP’G’"' Loox=002 0
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(12%) 8. The Divided Differences for a function £{x) are defined as follows:
Flxd= fix),
et 1= _.Jr[-ti;] "f{x.e-wlﬁ
ST N

Flx )= fx, X1

Ap X2

f[x,t_zz--r*_pxj_-]' =

f['rl—!ix.t—i!‘ri}_f[xﬂ‘—l.*x.ﬂ-—zlxk-l]
*
Mg — Xy _3

the recursive rule for constructing higher—order {peneral) divided differences
14

f[xk—hxk—llxt--l X l=

fIIE_'_J. q:---a:‘:.l:]"‘f[xtrjs---ﬂ:"h—J]
Xy~ Ky r
Assumme x,, £=0,12,.. .1, and Flx, ) k=012, ,n are known
parameters s are stored in two already defined aray X and F, respectively.
For exsmple in C, the array definition look like:

RAER P E e X ] =

Ront ATrt1], FTut1];

You may assume these array are defined a4 global variables and their
values have been read in. Write a portion of program to compule
Flxp. 27,07, ] in C (preferable), or PASCAL by using (he following two
programming styles:

(1) Use g recursive function.
(2} Use locp structure {iteration). However, vou should define no mose Array
and may use only the X array and F array defined above,




